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s F&Fho H 68 =¥ HHEERER 1,101. 000 | X4
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R A M E | 56T B¥ TR & 1,023.000 | X4
s = B2 Nk TR & 998. 000 | X4
¥ H R | BT mESEA 1 Py ) 988.103 | X4
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foe & K 4 |PER ARl B ES g IR B B o | u%
B} E FE=xE | F 6l EE3 HEFT IR 742.000 | X4
B OB M | B 62 =34 A Py ) 642. 000 | X4
JI e Al | B 61| S&xE MR 618.000 | X4
R | B 63 J=E 3 IR & 595. 000 | X4
B oo M | 5B 61 e an= IR & 587.000 | X4
LB B | 5 68 =4 I Py ) 574.000 | X4
k& |- [ H 70 Nk I Py ) 517.000 | %4
* H w574 B¥ I T ) 493.161 | 4
Hol OHEWE | B 62 B¥ TR 484.000 | 4
| kHE | 5|66 E=zan=| TR & 478.000 | 4
gwAR R—HE | 559 B¥ IR & 453.000 | 4
B F #h— | 5B |75 = e &, 446. 000 | 4
£ H 5 | 558 £ 3 Py 422.000 | 4
Bl FE | B]|65 [GHES TR & 391.000 | 4
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Bk H 5|59 53 SR & 1,053.817 | %4
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L= " | B 57| mESEA TP IR 917.000 | X4
xR HX | B|65 = MEFT &, 897.866 | 4
HE B® | FB|70 PR fEPTE 897.000 | X4
Yerx R WUE | B |67 J=E 3 TP I, 870.809 | X4
B B osw | | 64 ER=E S TR & 819.122 | %4
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EaAaI) | 550 B¥ fEPTE 746.522 | X4
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AF 3EF — | FH 52 =23 TP IR, 1,227.003 | X4
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B B fn 3k | B |67 J=E 3 TP IR, 1,142.000 | X4
BWH O OIN= | B|65| ZHEA TP IR 1,124. 000 | X4
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&I sEvE | B 56 =34 fEPTE 767.000 | % (3) BHZEAER (BETREHEK 20 AN)
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ZH % | 5|64 B¥ IR & 978.000 | 4
sl O F1 | B 54 ER=E S TP IR 957.000 | 4
7O R | 64| BUEEKER H AL pE A7 886.339 | 4
R H = | B 6l LA Py ) 861. 000 | X4
T. i — | B |58 53 SR & 850.831 | 4
T MK 571 SH%E TP IR, 820. 767 | 4
e B R | B 66| tRE EFT I, 758.440 | X4
EAN HHE | H 60 B¥ P I, 730. 000 | X4
T B | 4 64 B¥ I Py ) 691.044 | 4
A H O MEEL | B 56 IR Py ) 645. 000 | X4
He K | B|63 L HEFT I 553.000 | X4
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10 “EmEssE sz
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i 2 e 25K 66 = it 5E ¥ % UL AR — =
i 2 2R 0.57 %
foe M & K & || B E g UKk & 2 o | u%
AR R R | B 36 B¥ TP IR 1, 056. 000 | X4
ANAH FEF | B 62 ARIENCER SR E 951.623 | 4
W H @l | B | 56 | AR EmRESE AT R 845. 000 | 4
B F—H8 | 3| 40 | BekeirRmuE T 774.562 | 4
AR L H | 4 56 pilia 154 EFT I, 721.000 | X4
AR B | B 36 | [EEIEANET HEFT I, 699. 000 | 4
W B | B eT J=E 3 fEPTE 635. 000 | X4
T 1E 2 | B | 52 | rRaH AR AT B 588.000 | 4
B X F | B | b4 | SHREIR IR & 583.437 | 4
E BE | %56 = AT & 575.376 | X4
5 % Z | 56l =4 Py ) 557.000 | 24
JILSF H | 5B | 54 | RS R B MEFT &, 551.000 | %4
FEE BERES | 5| 64 J=E 3 SR E 541. 000 | %4
T & g + | | 78 | H&EEAmER LR R 503.000 | 4
i ] | 5B 70 J=E 3 TR IR 415. 000 | %4
hodE O SCHE | B 69 B¥ TR & 401.000 | 24
SR B | el EUORRE H AL pE 7 381.000 | %
I H | B 62 53 SR & 377.000 | %
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(3) BAZERER (FiX)

foe & K 4 |PER AR B ES g IRk & B o | u%
e 2 K B B2 L AT & 892.301 | 4
B SsEXR | B 64| TESEE | BRHRER 890.591 | 4
A EE B 46| SEE HHRE 866. 000 | X4
H | B 69| BRILIE Py ) 861.000 | X4
A Bselh | 569 JHETH TP I, 828.077 | 4
&l & | B |58| M#Es#EEa IR & 827.408 | 4
ol A | B 6T ES HHEREW 774.000 | 4
R R B 5| 62| s EE MR R 759. 000 | 4
i mE 532 REIERE SR E 732.000 | %
e ®E | B 65| frEEL IR & 579.000 | ¥%
o — | B 69 | merunmarn | HEATR 158. 021 | %
A HE O E® | B]59 pilia 154 TP I 341.922 | %
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W H G HEF I 24,089 A 26, 140 A 50,229 A
B oEF K 14,956 A 16,487 A 31,443 A
EEHE K 9,133 A 9,653 A 18,786 A
B2 R 62.09 % 63.07 % 62.60 %
(3) PBHZEAER (B XA 26 N)
B =B K 31,443 FFIg 0 2 ol 0 =
A h & E A 31,065 BE % OE S ¥t 298.701 2
e 2h # 25 378 fHEFE M 7% I A 119.481 =
e 2h e 25 R 1.20 %
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K wH | Blee &8 H R T 1,431.000 | X4
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BH b X+ | |64 BRKEER N L 1, 344.000 | %4
FH fE | 540 JHETH TP IR 1,311.000 | %4
B B%H |5 70 mEaEkE | 2R ER 1,249. 000 | X4
T 7 | &|e68| BB H AL pE 7 1,243.000 | X4
B4 B | 68 EN=£3 HHEERER 1,208. 000 | X4
FE O EZW | B|50 £4B IR & 1, 146.000 | 4
er R FETE | B |63 MESER HEFT I, 1,116.676 | X4
HH % T | k|64 H & ¥ A Py ) 1,093.000 | X4
= RE | FH| 63 ES SR E 1,091.000 | X4
i A | 5 55| hEaEkE | AANLER 1,041. 000 | X4
o 5L | B 55 ER=E S N, 1,002. 024 | %4
B & | B |58 &HikE IR & 977.975 | %4
ey e B 52 = I Py ) 970. 000 | 4
JITF N+ | B 75| MEREER 1 T ) 952. 000 | X4
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(2) FEEfER
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o= O3 72.99 9% 74.36 % 73.71 %
(3) BHEERER (BETNEEER 1
B O B 3,815 H IRV 2ot 0 =
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e 2h B 25 238 = it 5E W 1% UL 5L — =
I ) e 2R 6.24 9%
foe & K 4 |PERU ARl B E 3 UKk B 2 | u%
WM BERE | 5| 68 =¥ IR & 1,905. 000 | 4
T fE—RF | B 62 I Ik IR & 1,672.000 | ¥&

X o 5 LS 7

A AHEE 5,933 A 6,988 A 12,921 A
B OEE K 3,788 A 4,467 A 8,255 A
EHEFH K 2,145 A 2,521 A 4,666 A
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e 2h e 25 R 0.97 %

foe & K 4 |PER ARl B ES g IRk & 2 o | u%
wA O EE | FBe7| 1TEEL H A pE 7 704. 000 | X4
Al fF— | 5|64 J=E 3 IR & 617. 000 | X4
S B | B 5T B¥ A Py ) 608. 000 | 4
SR X3 | B |55 X2 SR 8, 606. 000 | X4
N B e | 59 3 HEFT I 602. 000 | X4
A B IR | %59 e an= TP IR, 601.000 | 24
e HHE | B 76 J=E 3 IR & 555. 000 | X4
BRI e | 5|65 £ 3 Py ) 552. 000 | 4
[ &5 %62 | B 43| SHERE IR & 540. 000 | 24
f+E A | & 55| FEERRE TP IR 524.000 | 24
AR AN IE | B 67| B HEIRGEE IR & 458.000 | 4
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erx R BE | 5|66 E=zan=| Py ) 421.000 | 4
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